P-T (1+1+1) G/ 20 (N)
2020
GEOGRAPHY (General)
Paper Code:IV-A & B
(Human Geography)
[New Syllabus]

Important Instructions
for Multiple Cheice Question (MCQ)

* Wiite Subject Name and Code Registration number, Sessiem and Roll
number mn the space provided on fhe Answver Soript

Example : Such as for Paper LA MCQ) and [I-B (Descrptive).

Subject Code : [II[A|&|B]

Subject Name :

® Candidates are requured 10 attempt all questions (MCTQ)), Below sach
question. four alternatives are @ven [Le. (4), (B), i), O)]. Only ene
of these alternatives is "CORRECT answer. The candidate Iias to write
the Correct Alternative [ia (A)/(B)/(C)D1] against each Cuiestion No.
in the Answer Scrigt.

Example — If altemative A of 1 1= correey, then write
L. —A

® There s no negative marking for wrong answer
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Ao br eiveR (MCQ) Sy G| Foiraei
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Subject Code : |11l | A& | B]
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T4, TMITH (A), (B), (C) 4R (D) I T WE) “Awidiee o Taraa
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1. — A
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Paper Code : IV - A
Full Marks : 15 Time : Thirty Minufes
Choose the comrect answer
Eachguestioncames 1 mark
1. Which pans of the globe have the highest human population densmes?

(A) The Nerthem Hemisphere

(B) The equator

(C) The Southem Hemisphers

(D) None of these

Y | T (B B TaATE T AL
(A) TEg o
(B) Fre=ie =we
(C) =/ cimd
D) S =8
2. Which factors are regarded a5 the causes of mugranon —
(A) Push factors
(B) Pull factors
(C) Both ‘A’ and B’
(D) None of the above
3| wEEEEE T a1
(A) =% =
B) o1 ==
(C) === {(A) £ @)
D) =i 7w

Page - 3 of 12



3. Where 15 the populanes growth rate fastest in the werld?
(A) Sub-Saliran Afiica
(B) Latm America
(C) West Asia
(D) South Asia
4| $355E = TS T I e
(A) T T
(B) =Fs ===
(C) =r#ew gfw
(D) == L
4. Who wrote the book The Dictionany of Buman Geograpin?
() Leong and Mosgan
(B Gregory, Johnstor:, Pratt. Watts and Whatmore
{C) B. S. Neom
(D) J. Sen

8| The Dicticnary of Human Geograply ==
(A) T o8 T
(B) 2252, Two=, 205, SFon 8 EF0mE
() 7 =n FEdi

(D) & &=
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5. What are the basic differences betwesn rural and urban sertlemem”
(A) Numbser of population
(8) Occppation
(€) Population densaty
(D) All of these
(A Sl
(B) F=s
(C) =g
(D) S=mzs 7==00
6. The concept of fernliny 15 simply defined as —
{A) The matimum possible number of cluldren that can be bom each vear
(B) The meidence of child bearins in 2 country™s population
{C) Tsad to assess the health of 2 population
(D) The number of live baths m a siven vear
L ERED et b e T T —
(A) HTTE o7 ALEE =9 ST ThEE Al
(B) 557 0 Torm]E %S wEEeEl
(C) TwFe=q@E =T v 39
(D) <= === =i9s ™z 7



7. Which of the followme lansuages 1s mcluded 1 the Inchan Constitution?
(A) Malzalem
(B Konkam

(C) Dogn
(D) All of these

(A T
(B) ==7
(©) =i
(D) Ser=s 7as=a
8. In which state the largest number of mbals 15 hving?
() Gujarat
(B) Odiha
{C) Bihar
(D) Madhya Pradesh
vl Pirse AT S ST o T
(A =T
(B) s
(©) T=s

llD} S [Ja L
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% What is the number of female populancn per thovsand male m India, after

Cenisizs 20117
(a) 950
(B) 980
(C) 970
D) 240

3 EWLET 10%Y WA WWAAIE TeEw 9 TEE S YA A —

(&) 2a0
(B) s¥e
{(€) 220
(D) wgo

10. Which one of the wnportant mdicator of human development?
(A) Opamum population

(B) Development m health faciliy
(C) Per capita meome
(D) Immerahcn

(A) =77 T
(€) 7= wam~g I
(D) sfE==



I1. At present the wield's population srowth rate 13 —
(A) 1.3 percemt
(B) 2.0 percent
(C) 1.4 percent
(D) 24 percent
ys | FEET AT TeeTE e T —
(A) L. EET
(B) 302
(C) 1.8 wooe
(D) 2.8 w=or
12, “Tozs” 15 a primbrve ridal communty found mn the distner of —
(A) Cotch Behar
(B) Abpusduar
(C) Talpaimm
(D) Daneelmg
N4 | T SRS OBR TeHETEE @ S e BE —
(A) =peTE
(B) wrEeEE
(C) TiReiz
(D) =iET
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13. Bushmen are the native people from which of the followms continents?
(B) South America
(C) South Africa
(D) Asta

Y | T S Wh WS ] e U
(A} 5% TwEE
(B) =Fs ===
(C) ¥/ Wi
(D) afrer
14. The name of less populated stazz of India —
(A) Sk
(B) Ammachal Pradesh
(C) Assam
(D) Goa
VE | BELEE AT aS EeeeT oiEy 3 —
(A Fifew
(B) =eesss &0
(€) =5=

(D) o=
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15. Which 15 the man actronty of the Eskimos duning the short sunimer season?
(A) el grsing
(B) Lumnberme
(C) Fishing
(D) Himtms

¢ | 7w T P TE G S T O
) ST
(B) =uwmes
(C) w57 =
(D) ==
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P-TI (1+1+1) G/ 20 (N)
2020
GEOGRAPHY (General)
Paper Code : IV - B
(Human Geeography)
[New Syllabus]
Full Marks - 35 Time - Ons Hour Therty Minotes
The figures n the margin mdicare full marks
Section - 1

ANSWEr anviwe questions. 10x2=20

1. Dnscuss shortly about the scope of human geopraphy 1 present comtext. Shortly

explam the problems of high pepulation srowth F+5=10

2 Dastmzush betwesn mirsl settlement and urban settlemem 10
3 Explam with suntabls examples and illistranon about the fHotors responsible for
uneven dismbution of human population, over the zlobe 10

4. Explam the contert of social zeography. Bnefly discins the features of ldesivle
of Eckimos F-5=10

Section - 1T
Answer anyFee QUeshons. 3x3=15
5. Define the concept of underdevelopment 5

¢ Bnefly disooss the uman adaptation i meuntamons region with spenial reference
o Guyjar 3

LFi

7. Emumeraté the concept of mdicator of development

L
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5. Dhscuss the role of rehmon and caste 1 analysing social geosraphy of India. 5

10. Make an mierpretanon of basic charactensuc features of wrban setlement 5

AR

=
T -
0% 55| Eﬁ'— BT A MR SOXKE=50

N i

| TEEE Aeme TR, AT E0NTE et &9 ammEe e
AE B 55| SEWEE S5av]] §56 AWANSI AsrEre T =4 |
Fe=ye

3| S GE TG EReA T NEe maes I -

£ | WRAICE GAW Bl SO SeTmeieE v S TRy ST
=z 4“6

3| TR T ARl e o | ofErmew Seewmmt 9 s
TEEDE WS T =0

= - =
= = el = =5 e

a
i
=

I

b

>

¢ | A (underdevelopment) HEENT =0EET =1 &

Y| EELEE SfHE] SEED WEEELRE 9%Tu, SEELY HeLEEiaE mels
=T =1 | s

3| Swemw e (ndicator of development-47 =T Towe oy =2

(=

v | AEEEE ToTe (menzlny) REED SEame 5 2
B TEEE AWIES SULA i & Few Shia el 251 g

vo | LT TeT =T D= SEReT T = >
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P-II (1+1+1) G/ 20 (%)
2020
GEOGRAPHY (General)
Paper Code : V-A & B
(Economic Geography)
[New Syllabus]

Important Instructions
for Multiple Cheice Question (MCQ)

* Wiite Subject Name and Code Registration number, Sessiem and Roll
number mn the space provided on fhe Answver Soript

Example : Such as for Paper LA MCQ) and [I-B (Descrptive).

Subject Code : [II[A|&|B]

Subject Name :

® Candidates are requured 10 attempt all questions (MCTQ)), Below sach
question. four alternatives are @ven [Le. (4), (B), i), O)]. Only ene
of these alternatives is "CORRECT answer. The candidate Iias to write
the Correct Alternative [ia (A)/(B)/(C)D1] against each Cuiestion No.
in the Answer Scrigt.

Example — If altemative A of 1 1= correey, then write
L. —A

® There s no negative marking for wrong answer
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Ao br eiveR (MCQ) Sy G| Foiraei
o TEFA TS FW TEOE (Subject) A1 9 (@18, FERCR TR, OFR
e PR el
TAERS — (T Poper LA (MCQ) @@ T1-B (Descriptive) |
Subject Code : |11l | A& | B]
Subject Name
» fEimdiE TEasE AmE (MCQ) TE w23 25l 4o 51 ave e
T4, TMITH (A), (B), (C) 4R (D) I T WE) “Awidiee o Taraa

¥ (A)/ (B)/(C)/ (D) b Reveibee o v Trrons e Fre
A

TR — % 1 TR YR HiiT Ted A TN ©F e 9
1. — A

* T TemE o @ FhY wigs o
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Paper Code : V - A
Full Marks : 15 Time : Thirty Minufes
Choose the comrect answer
Eachguestioncames 1 mark
1. Which of the followme states is well known for temace coltvaton?
(&) Punjab
(B) Haryama
(C) Uttar Pradesh
(D) Uttarakhand
Y| OF A I Y SES T T TR
(A) g
(B) S¥9™
(C) THsere
D) T=2=2
2. Hydroslectnic power 1= gensrated by —
(A) Raevers and waterfalls
(B) Coal povwer plaits
{C) Nuclear reactors
{D) None of the above

3| THEEE TR —
(A) =1 & ==EALE
B) == ==
(€) == swe
D) = 7



3 15 an exampie of werhary aconomic acovity.
(A) Fiding
(B) Faming
(€) Grazng
(D) Barlkang
& T o (NE TeeE aeems |
(4)
@) Fee=
(C) =T
@) FEe
3. Whach of the followne 15 3 tab crop?
(A) Wheat
(B) Barlsy
(C) Mmstard
(D) All of the above
8| £F T e TR m e
(&) "=
@ w7
(C) #w=

(D) Soeem 7==

5. Tea production 15 2n sxample of
(A) Plantson famuns
(B) Mixed Farming
{C) Suvbamstence Farmmg.

(D) Commercial Famuns
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(€) =i
D) == 3"
6 15 3n example of ancillay industy
(A) Cotion textle
(B) Tyre mdustry
(C) Steel 2nd won
(D) Pemochemical
Bl op W e e AT e
(A) TETT
(B) 3= e
(C) R==TE e
(D) comT=wes e
7 Which type of sail 1= frvourable for cotton production™
(A) Latente soul
(B} Black soul
(C) Altvial seil
(D) None of the abave
8 | T B TN B §I6S 7R (T T
(2) = TE=
(B) T= ieml
(C) == vz

(D) =T 7w
Bage - Sofll



§ 15 a byproduct of coal
(A) Rubber
(B) Wax
(€) Coke
(D) Asphalt
5 e Fy | ]
(A) 3°°
B) o

wTETE

(C) =%

G 15 an example of 3 renewablz enersy souree

-

10. Which state 1= kmown for shiftme cultivanon?
(A) Rayasthan
(B) Uttar Pradesh
{(C) Bihar
(D) Mizoram



Lo

.

== o —

(A) TR
(B) STz
(C) &%
@) TezEw

Which of the followine 15 2n éxample of 2 cash crop?

(A) Cotton

(B) Sugar cane
(C) Tobacco

(D) All the above

vy | Poes e =g A SRR

Ve
A

) FT
(C) =nr=
(D) THEEF7TEs

. Wihuch state 12 known for the cotton-texnle industy”

(4) Uttar pradesh
(B) Jharkhand
(C) Guyrat

(D) West Bangal

I A TERY T e et

(A) TEzTe
(B) ITe<e
(C) ==

(D) =T

=i

"



13. Primmarv sector workess also known as
{A) Blue collar workers
(B) White collar workers
(C) Green collar worksss
(D) None of the above
Ve | TS B o AT E SN oS T T
(A) 7 = =
(B) 77 == ==
(C) 75= == #a1
(D) EHbE =3
i4: Biogas energv 15 an example of
(A) Conventional enersy source
(8] Nop-comvéntional energy source
{C) Potential energy source
(D) Nene of the above
YBIEETAE = |
(A) Pamies i S
(C) 7==avE &7 Tneas
(D) CHToE =3
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15. Forest. fish. hwestock are the examples of
(A) Iorzanic resources
(B) Orgame resoumess
(€) Both (&) & (B)
(D) None of the zhove
N |, RS, HATE IS
(A) WiE A
(B) ==
(€©) (A) == (B) TR

(D) = =
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P-TI (1+1+1) G/ 20 (N)
2020
GEOGRAPHY (General)
Paper Code: V - B
(Economic Geography)
[New Syllabus]

Full Marks - 35 Tims - One Hour Tharty Minogtes

I‘u

iy

_‘lﬂ

. Wit 15 agroforssty and social foresty?

The figures n the margin mdicare full marks

Section - 1

ANSWEr anviwe questions. 10x2=20

. Classifyv resources based on ther availabliny: What are the differences benveen

primary and secondary sectors of the eccnony? What do vou mean by

sustamable development? 4—3-2=10
What ate the prohlems of Indian ammculture system” What i the green
revehmon® §-2=10
Write about the favousable conditions for tea plantation. What 15 shifime
cultrvanon? Winte down two feamures of shufhing coltvation 6+¥:2=10
What are the problems and fomre grospects of the textile mdustry n India?
Why Ahmedabad 15 known 25 Manchester of nda? F+3=10
Section - 1T
Answer anyiiires questions ixi=18

L

Wit 2 shot note on Commiercial Granng
What aré the problems of the petroleim mdistry in Inda?

Al

bt
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L

8. What are the impostance of forest resourcas?

4. What are the factors thar affect the locanon of the Iron and Steel mdusty
explam with suriable examples?

[

EiibEid
o= - &
= =T WP oTET TEE WE Loxs=2s

N | AT HIGTE] WeEIe] CRAET o 90 (45 49 Gew (=E i
SHENAE I T 55 AT TeEe SIS 9 grr—e=tp

= | =HEE -;:FEE"_FE EPT ‘E|:=T =5 = ET ﬁ'&.ﬁ S5 =t Pt~

0| B TR E SE S T e EERE S IS A0 43
Fo A e wry—s=ye

2| EWLES SESU 9LET AwAl] £RL ERA[E AEee] AvLe SLeneel =9

HTEWERLS Sieced Wb ow o] SRt T-E=Y0

i?ﬂ:'ﬂ -

= e Teaie e T e PxE=22

2| B WS & AN G SR WL AL T e

¥ | TR HEEEN-OT TeE ATy T Ee 2

9| EEIE HETEw e AOIS S o = 2

.| T ATIE STEETH 9 & 2

B R TITE NEE WY B (O S GME vt St S 4l
= &

Page - 11 of 1]



2020

Geography (General)

Sixth Paper
Practical
Time- 4 Hours Full Marks:- 50
Answer all Questions

1. Wnie down the compenent parts of a hygrometer. 3

2 What Is rain gauge and its Uses? p.

32 Draw aclimograph on the basis of ihe given data. Aiso igentify the chimalic type. 5
Maonth J F M A [y f o A 3 o M [
TempF |35 |38 (42 |322 |52 |6T2 629 |689 |679 |642 |562 (485

3 2 2
RH% &) |78 |68 |58 |45 54 |53 A6 o2 45 46 |50

4 What are the components of plane table survey?

& Wnie down the menis and demeriis of prismatic compsss?

6. What do you mean by beanng?

7 What is closing emor? {F+E+2+2F13

Field Report and viva-voce (10+10=20

£. Whal [s socio economic survey?

8  How do you collect socio ecenomic dala?

10, Whnat is fhe purpese of house hold.survey?
11. What is-method of door to door sunvey?
1Z. What Is the economic condition of your survey area?

12 Laboratony nole book and viva-yoce

(1+2+243+Z= 10

@42)5




